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Hagar the Horrible • Chris Browne
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Blondie • Chic Young
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Bridge

   Famous Hand

My brother, Mike, is the source of this
deal, which he played in a pair champi-
onship some years ago. He held the
North hand and overcalled one spade
with two hearts.

 South now had a wide choice of bids.
He realized his side had a game, but he
had no way of knowing where. One
possibility was to cuebid spades to try
to find the best landing place. Another
possibil But South decided the best
score at match points might lie in
notrump. Accordingly, he jumped to
three notrump, running the risk that the
diamond suit might be run against him.

 West, not vulnerable, bid four spades,
and Mike bid four notrump. This was
not Blackwood, but merely a raise in
notrump. West then bid five spades,
which Mike passed. The pass was meant
to encourage his partner to go on — oth-
erwise, he would have doubled. South
accepted the invitation, revealing his
club suit for the first time.

West then bid six spades, doubled by
South, but Mike, unwilling to accept a
small penalty in lieu of a slam, con-
verted the double to six notrump. After
East and South passed, West reasoned
that the slam would surely be made, so
he pushed on to seven spades.

Once more Mike made an invitational
pass, which South again accepted, bid-
ding seven notrump. West doubled, but
declarer had three more tricks than he
needed. The stop-and-go manner in
which the laydown grand slam was
reached is surely one of the strang-
est this department has ever heard of.
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

Tod the Dinosaur • Patrick Roberts


